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30.

31.

Consider the following statements regarding

the Individual Satyagraha:

1. Gandhiji was the first person to offer
individual satyagraha.

2. The aim of individual satyagraha was to
embarrass Britain’s war effort.

Which of the statement given above is/are

not correct?

(@ lonly

(b) 2 only

(c) Both1land?2

(d) Neither 1 nor 2

Consider the following statements:

1. The announcement that the British
would quit India by June 1948 was made
by Lord Mountbatten on 3rd June 1947.

2. Partition of India as the two-nation
theory was accepted by the Congress
nationalist leaders.

Which of the statements given above is/are

correct?

(@) 1only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2

'He was a retired Indian Civil Service (ICS)
officer and an economic critique of
Colonialism. He published his work ‘The
Economic History of India’ at the beginning
of the 20th century in which he examined in
minute detail the entire economic record of
the colonial rule since 1757

Which of the following personalities is being
described in the passage given above?

(a) Behari Lal Gupta

(b) G Subramaniya lyer

(c) Surendranath Banerjee

(d) Romesh Chandra Dutt
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32.

33.

34.

35.

Carbis Bay Declaration, recently seen in the

news, is related to:

(a) Global elimination of Tuberculosis.

(b) United Nations declaration signed to
bring peace in Israel and Palestine.

(c) Enhancement of multilateral health
architecture to fight and prevent future
pandemics.

(d) Exit of US forces from Afghanistan.

Arrange  the following events in
chronological order of their occurrences.

1. Nadir Shah's invasion

2. Battle of Buxar

3. Third Battle of Panipat

4. Death of Tipu Sultan

Select the correct answer using the code
given below.

(@) 3-4-1-2

(b) 2-4-3-1

(c) 1-3-2-4

(d) 4-3-2-1

‘Winchcombe' recently seen in the news is a:

(a) mission of JAXA to Mars.

(b) meteorite which recently fell on the
Earth's surface.

(c) rare species of bat found in Nagaland.

(d) technology used to decipher the
Harappan script.

Consider the following pairs:

Personality Movement

1. Vishnu Shastri Widow Remarriage
Pandit Association

2. Tatvabodhini Debendranath
Sabha Tagore

3. Dadabhai Parsi Law

Naoroji Association

Which of the pairs given above is/are
correctly matched?

(@ 1,2and 3

(b) 2 and 3 only

(c) 1and 2 only

(d) 3only
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